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Peaches and pineapple





Tesco sells cans of pineapple, peaches and grapefruit.





  �        �         �





A can of pineapple and 2 cans of peaches costs £1.00.


2 cans of pineapple and 2 cans of peaches costs £1.40.


A can of peaches and 2 cans of grapefruit costs £1.20.





What does a can of pineapple cost?





What does a can of peaches cost?





What does a can of grapefruit cost?





Toni spends exactly £2.20 on cans of fruit.


What could she have bought? (4 possible answers)

















How much change will she get from £5 if she buys 3 cans each of peaches, pineapple and grapefruit?
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